RO MS - 424

Il Semester B.Com. Examination, May 2016
(CBCS) (Freshers + Repeaters) (2014-15 and Onwards)
COMMERCE
Paper — 2.6 : Quantitative Analysis for Business Decisions — |

Time : 3 Hours ' Max. Marks : 70 -

Instruction: Answer should be written either completely in English or
Kannada.

SECTION—A

Answer any five sub-questions. Each sub-question carries two marks. (5x2=10)
1. a) Whatis Tabulation ?

b} Mention any four types of statistical averages.

¢) List any four methods of studying variation.

d) Mention two methods of measuring Consumer Price Index.

e) Whatis meant by skewness 7 '

f) If X =12, Z = 13 find Median.

g) Mention any two functions of statistics.

SECTION-B
Answer any three of the following. Each question carries six marks. (3%6=18)
2. Calculate Median from the following data |
Marks : 50 40 30 20 10
Frequency: 10 40 20 12 16

3. Which company has greater variabllity of salary ?
| Company ‘X’ Company ‘Y’

No. of employees: 250 200
Standard Deviation : 500 600
Average monthly salary X): 20,000 25,000

4, a) Find X if CV = 40%, S.D. =12, |
b) Find Co-efficient of Mean Deviation, if X = 120 and M.D. = 12,
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6.

From the following data compute Quartile Deviation (QD) and its co-efficient.
Marks : 1020 20-30 3040 - 40-50 50-60

No of students : 15 18 20 .9 6

Calculate SD from the following : |

Size : 25 35 45 55 65 75
Frequency: 28 38 50 45 - 40 20

SECTION~-C

Answer any three questions. Each question carries fourteen marks. (3x14=42)

7.

10.

11.

| 5 6 7 8 8
Marks Suraj 40 80 76 48 5 72 68 56 60 56
69 72 72

From the following compute coefficient of skewness.
Weeklywages:  40-60 60-80 80-100 100-120 120-140 140-160 160-180
No. of Workers : 6 10 18 30 15 12 7

Following are the marks obtained by two students Suraj and Dheeraj in ten tests
of 100 marks each :

Tests 1 2 3 4 10

obtainedby | Dheeraj 48 75 54 60 63 51 60
Find who is the better scorer and if consistency is the criterion for awarding prize
who should get the prize ?
Calculate Mode and Median from the following data.
x: 010 1020 20-30 30-50 50-70 70-100
f: 5 10 17 40 62 60
Compute Fisher’s Ideal Index from the following and show how it satisfies TRT
and FRT.
_ 2012 2013
Commodities Price Quantity Price Quantity
M ' 8 80 10 110
N 10 90 12 108
O 16 256 20 340
P 20 420 24 456
Q 25 550 32 704

Draw less than and more than ogives for the following data.

Salary: 0-40 40-80 80-120 120-160 160-200 200-240 240-280
No. ofemployees: 9 36 o1 147 87 22 8
Also locate the value of median and verify the answer.
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B3 39N CIRTTRT0R W CUT-TION GUZOA. gj,a SOT-FI PO tao%ﬁe.h - (5x2=10)
1. a) *‘ése%dsa QOTBeR ? ‘ -
b) cinToTIoe e ROOROCDRY, mm
C) 3UBON W00 RRoR 4 wﬁﬁvésﬂgt PR,
d) WPERTT TR 1365 B3, 08 SRS IR ?
e) =830 2oude ?
f) KooR0 = 12, a3 BooRd = 13 et SGID WSO 8P
g) RomWBORLD IR TTTR O ToODF TR S0

L R@RN-W |

1 39N CARRTOHTR Feth FIREH e3on. Bd BIRE wosrtd. (3x6=18)
2. 35 89NR3008 RGIRRIOBARD. B

oaN 50 40 30 20 10

RS 10 40 20 12 16
3. CIn® PTFSED RowdRd, il Brddeh B ﬁozmdaam

A B

Foo0F BT Boss, ! , - 250 200

SNE RO 500 600

o0 Sone Boww ) : 20,000 25,000

4. a) CV=40%, d0F% BRo0o0E =12, X =7
b) RoRRd B¥EBNE = 12, RUeR0 = 120 Ciateliepntef R ieny m’a’ﬁoeaﬁﬁad: 9
5. 350 B&S000T WBOTF T LBOROIRY =02y T "&'rbsaﬁm BT &R0,

oindo: 1020 2080 3040 4050 5060

dmpriYResy: 15 18 20 9. 6
B. RO, WRITHVFOIR), oBEEAWO. | |

w3 : % 3% 45 55 65 75

uge: B8 0B 50 45 0 2
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31 99N CRYToETe ach TEHeR euZor. B8 F14 st (3x14=42)

7.

10.

11.

SN DIORPOR RRE Rom0sER ForaLROD.
plaial A-tOR 4060 60-80 80-160 100-120 120-140 140-160 160180
3a0m¥Rosd: 6 10 18 0D .15 12_ i

B3) wb@éﬂ@ﬁ@ ﬂ@e% 100 e:aoa‘r{@ﬁ fawcfo VRPN AT BBy PeTHT TR eosntd
wﬁorsoéd | |

Zoed oad 1 2 3 4 5 6 7 8 9 10

i : RAT® 40 80 76 48 52 72 68 %6 60 56

oFned @Edzs“4875546063'6972517260

OIRT) GV 0T DGR, TN WBIRRE VSO zmd:é 93RS, 0IROR LBINNT
AT 9

3ot 20u0a S oBnecr BRI RooR0 e mq%#rffdab ﬁodo&ﬁo&:@
) & 0-1 0 1020 20-30 3050 50-70 70-100
f: 5 10 17 40 62 60

83 3INT ID0T HROS B mz%oﬁafdo BOROBRCWD. e9T3d> Berd TRT=xE; FRT
waeﬁffﬁ'éab S&m@m@domd& 20008
2012 2013
g iy TORIED US Jomree
M 8 80 10 110
N 10 90 12 108
O 16 256 20 340
P 20 420 24 456
Q 25 550 32 704

o BRUTOT TEY0TROT, 2,000 ci’emda‘*oda@ 'SRT B0 ‘BT TR
mewﬁa‘r o) wd’cb Sl niold) v at o) rbd:@ﬁ: =08 emaddab woega.
Hows 040 40-80 80-120 120-160 160-200 2_09;240 240-280
WeocRe: 9 B 91 147 g7 22 8
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